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Topic 1, Exam Pool A

Question: 1

You have successfully deployed a primary and a secondary ONTAP cluster. You want to set up an
intercluster SnapMirror relationship between your primary and secondary sites.
In this scenario, which two actions are required before accomplishing this task? (Choose two.)

A. NDMP must be enabled.

B. The SVMs must be peered.

C. The primary and secondary clusters must be peered.
D. The Snapshot schedule must be configured.

Answer: A,B

Question: 2

A customer wants to set up an SVM DR relationship to protect a source SVM that is dedicated for NAS file
services. The source and destination clusters are running ONTAP 9.5.
In this scenario, which application accomplishes this task?

A. OnCommand Unified Manager
B. OnCommand System Manager
C. SnapCenter

D. Snap Creator

Answer: B

Question: 3

After deploying an ONTAP Select 2 node HA cluster at a remote site, you successfully perform manual
takeover and giveback before placing the cluster into production. After the cluster runs in production for
a week, you notice that you can no longer perform a manual takeover.

In this scenario, what are two causes of this problem? (Choose two.)

A. There is a network disruption between sites.

B. ONTAP Deploy has been deleted.

C. The vSphere HA service has failed.

D. The HA interconnect cables have been removed.
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Answer: A,D

Question: 4

A customer’s infrastructure consists of multiple ONTAP clusters, both physical and virtual. The clusters
replicate some data with each other. You want to generate a comprehensive report of all the replication
that is present on the infrastructure.

In this scenario, which tool accomplishes this task?

A. OnCommand System Manager

B. Storage Replication Adapter

C. OnCommand Unified Manager

D. OnCommand Workflow Automation

Answer: A

Question: 5

You have set up a SnapMirror relationship between two SVMs for data protection. The data in the source
volume is unavailable due to an event related to a virus infection leading to data corruption.

In this scenario, which three actions are required to activate the SnapMirror destination volume and
provide data access to the users? (Choose three.)

A. Perform a SnapMirror quiesce operation.

B. Disable the source volume by taking it offline.

C. Configure the destination volume for data access.

D. Verify the status of the source and destination volumes.
E. Perform a SnapMirror break operation.

Answer: C,D,E
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